[bookmark: _GoBack]Hello Boys,
Here are some tips for Master Your Maths 3. Use your tables book.
Week 30. Good luck!

	No.
	Monday
	Tuesday
	Wednesday
	Thursday

	1
	H    T  U
6    8   5  
	708= 7h 0t 8u
	678c=  € _.__
	145, 342, ____

	2
	  260? or 270? 
Look at the ‘u’
If its 5 or more round up!
	6x7 = 7+7+7+7+7+7=
	Tessellate = Could you use a square to tile with…leaving no gaps??
	 0.6 = 6 ‘tenths’


	3
	 Count in 5s…..
3:___

	H T U
    60
  700
+    9
	8x4= 32÷8=  4
4x8= 32÷4=
	HTU 
372      7 tens = 

	4
	How many 9s in 54
How many 6s in 54
	6:55 =  five to ? (6 or 7?)
	16÷5 =
Count in 5s to 15
Whats left over
	457cm = 4m   __cm

	5
	Think of your icecream cone…How many ‘pointy’ parts (corners)
	When you are lying on your bed, your are horizontal!!
	Be careful with your carrying and recheck
	7x8 = 
Count up in 8s
8+8+8+8+8+8+8=

	6
	Count up in 6s 
Whats left over?
	Think of a the shape of a can of fizzy drink…not the round part……
	6 yellow out of 12
6 in 12 chance

	¼ of 36 = 
How many 4s in 36
Count up in 4s

	7
	J     F    M_ _ _ _
	4 parts are shaded out of 10…….4/__
	3 red out of 12
or     3 in 12 chance
	€1.25= ___c


	8
	Start with the smallest number….(as there are no full numbers)
	Draw a pizza with 8 pieces 
And 9 pepperoni bits on each piece…….8x9=
	2 blue out of 12
Or 
2 in 12 chance
	 42÷6= 
Count in 6s 

	
	Mon
	Tue
	Wed
	Thur

	9
	 6  red flowers out of  10 flowers…..
	 The month before December 
N________.

	1 green out of 12
Or 
1 in 12 chance
	 76x10 = 
Quick way to x10 is to add  a zero


	10
	    €
  5.00  
- 1.60

	4/10            8/10
< less than
· More than
	 Y_______has the most chance of being pulled
because there are lots of that colour.
	Recheck your ans
Don’t forget the kg and g

	11
	2,4,8, _ , _ 
Its (doubling)  x2 each time
	Count up in 9s to 45
And what is left over?
	G_____has the least chance of being pulled because it has the smallest amount in the bag.
	 1/8 = 8
8/8  =  8 x 8

	12
	 25 x16 = (25 x10) + (_ x 6)
how many more 25s
 
	Half of 50 = 25
25 Half of 50 = 25
25 ÷ 5=
	4/10 ____ (5/10) ½
< less than 
· More than
	30th April is the last day of April
Whats the next month?
1st of M___

	13
	 M cm
  3 48
-2  96   
Careful when get to the tens….4 take 9, more on the floor….

	   4.15
+   .30
	12 x 10 = 120 sq metres
	This pie is in  ‘eighths’
Playstation= red
1 red part out of 8 =
1/8  of 48 = 6
 

	14
	€   40.00
    -34.65
	4.40 + 20mins = 5.00
  5.00 + 20mins= 5.20
So altogether ___ mins
	    3.55
-  3.15

	
Ipad = green     2/8
From q13 we know 
1/8 of 48 = 6
So 2/8 of 48 = 6x2 = 12


	15
	652 – (233 + 159) 
Do the sum in the brackets first…Then take your answer away from 652

	   H Mins
   6.15
 + 2.15
	32 ÷ 6 =
How many 6s in 30
Count in 6s to 30
	Xbox = 4 parts out of 8
1/8 = 6
4/8 = 6x4 = 24

	16
	56
X7       or  

56+56+56+56+56+56+56 =
You can use your calculator for this!
   
	5.35 + 25 mins = 6.00
6.00 + 30 mins = 6.30

25+30mins = ?
	 Each chair has 4 legs
Count in 4s to 32

	How many more played Xbox than the Wii
24 – 6 = 



